© N OO AWN =

37

[(BRRSAAXVSTHMENEEHE] BHIE5008 ZERLAEK 3A10H
3B6B(H) | 3A7ECK) | 3A8HGK) | 3A9H(K) | 3A10B(®) A=
2ARE sita TP o gy [0 [ 2 | 2 | ek | 2o | ok | omi [ 2 [ om [ | Al | AREAN
BRMARK HOZH REA |y
BME5 ZEnET |ireEEE erRn—L ArEnEE arnm L arenEs| = |Pet| 500
tH —H |BRERTREXE
ME 7  |BRHRRTRLXE
£k KA |IBRBITINEXE .
REH RC EERAELE 80 11 7 10 4 4 36| 10.9%|@EfEAEDO
LA EF  |EERBTEMEXE
fRE FH | RERBRITERIE
FEH & (HASH YL YR—b 0o 00%
i B—  |ARSHISAX o 00%
EH B—  |(BR174FK—L 2 2 4 1.2%
RE ER|E9FE 50 2 2 2 7 14 27|  82%| BNE=MZEZE
KiE BF  |[BAEEER o] 00%
#hH AEELEAABAEBR o 00%
AE BE |ErEov/REFKASH 30 8 8 24%| BHEFST
RY #E | THRERETRGESR 2 2| 06%
Bl UAF |BASHISEDVLE o 00%
B EER #AEHTFIL 1 1 1 3| 09%
gk KB [ BASHBWREGG 0 0.0%
g FEth (BT RIR 100 2 13 4 14 5 38| 11.5%| £%ENo1%BIET
NI &R |SUAT MBI 0 0.0%
1% BH  |BRALE 80 11 4 9 24 7.3%| PRESENTHR
A EfE | HXSIHSHIN-EL o 00%
EH FEX |REENER 1 1 0.3%
M2 BR |BIRXTEE 20 4 2 6 1.8%
Bk B |03a=74957 BE 1 1 0.3%
Hi | BEAEER 0 0.0%
Z RE #RY=0)— M 20 3 3 3 9 2.7%
FE MBS EES AMXE o 00%
T E #RFHa—RL—av 30 of o00% 284I<HE
WMT B (BY=vITwY 1 7 8| 24%
HAR BX  |@ESRARITILSATEEE) | LABTy o 10 2 5 17]  5.1%
il FllEE#X R 0 0.0%
HAp BE |(ATEREEHRIHE 1 1 0.3%
Hep Ff |GREA 40 1 1 0.3%
RAX & ARV B 4 4 1.2%
& BT ()T 3 3 09%
PE BT BMKE 10 5 2 3 10[  3.0%
FRTE K& |TFALVRATLERASH 5 5 1.5%
BIE XB |7 TVIR of 00%
FEOME (BRLYY 20 1 10 11 3.3%
P R | (E)EMER 0 0.0%
OB | BAEHIRE—Y—RY— 20 2 1 13|  3.9%
FEFO B #HRAEHE ANEE 1 2 3 6 1.8%
AN BRI |BOER 1 1 0.3%
B E—H | BRE—RET R 0o 00%
FEA EiE AR UI—F 2 2| 06%
[& 5ABER FCK MARRYGOLD RHK—Y457 10 0 0.0%
Bk RX | 7A-7vF0&R) 80 20 2 11 6 15 54| 16.3%| HmBHEN—Z
FEIL#HE |(ELERITE 0 0.0%
EE &R |G=fEICHILEVE 1 4 5 1.5%
AE FE (KA BREM 1 1 2| 06%
Wil =z TA 741 - TXRFEHRASH 0 0.0%
i KR | MHIHRERELT o 00%
wE &8 |WF¥17y 3 2 5 1.5%
ZIE EA  |ARSH ZREE o 00%
B2 BXK (BT IER 3 3] 09%
#E R |(EFEEE RESTRUNT RURU 2 2 0.6%
N& Bt |FAEEL \SBETEHR 2 2 0.6%
WL 7% #=Y—IT—LF 50 1 1 2 0.6%
L JEF AFEBLE-IE bR B A — 1 1 0.3%
RIS AR HAIRE 0 0.0%
HiE SR |AREKI 5 2 7 2.1%
EH FX  |VOKISEAEERR 0o 00%
V) —orF 5L DEkE 5 2 1 8| 24%
BHALOER 4 4
A = 62 57 59 63 91 332|h/3—=
= &t 640 62 57 59 63 91 332 56%|




